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Question Number : 1 Question Id : 6780946004 Display Question Number : Yes Single ion Option : No Option
Orientation : Vertical

If the traces of A and B are 20 and -8 then the ir (A+B} is
Options: Q
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Question Number : 3 Question Id : 6780946006 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 4 Question Id : 6780946007 Display Question Number : Yes Single Line Questi tidf : No Option
Orientation : Vertical
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Options: Q
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Question Number : 5 Question Id : 46008 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
L 4
If A, B are tyo\n2trices and AB=B, BA=A then 4> +B> =

Options:

A+

Question Number : 6 Question Id : 6780946009 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical



3x+2 A Byx+C

If 5 = s
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. then 4+Cc-B=_

Options:
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Orientation : Vertical

Question Number : 7 Question Id : 6780946010 Display Question Number : Yes Single Line Question OptioOan
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Options: é
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Question Number : 8 Question Id : 6780946011 Displ u umber : Yes SingleLine Question Option : No Option

Orientation : Vertical

The value of tan855°= \A

Options:
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1
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Question Number : 9 Question Id : 6780946012 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

then tan(e + B) =

If taner = and tan f =

m+1 2m+1

Options:
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Question Number : 10 Question Id : 6780946013 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of 6sin20°—8sin> 20° =

Options: O
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Question Number : 11 Question Id : 6780946014 Display QL@Q{ : Yes Single Line Question Option : No Option
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Orientation : Vertical

If 3sin@+4cos@ =35 then the va 4smnf—3cosf=

Options: \
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8u.est|ton 12 Question Id : 6780946015 Display Question Number : Yes Single Line Question Option : No Option
rien

ine function with period 3 is
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Question Number : 13 Question Id : 6780946016 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum value of 3sin- x4+ 5cos> ¥ is

Options:

° O
l.
; O
, 34
Question Number : 14 Question Id : 6780946017 Display Question Number : Yes Si 1@ Question Option : No Option

Orientation : Vertical
The equation f3sinx+cosx=4 has @

Options: Q

k-2

1 Only one solution

two solutions

_ Infinite solutions &
, no solution :\

Orientation : Vertical
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The solution of

Options:
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Question Number : 16 Question Id : 6780946019 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The value of sin @ +sin(6+120%)—sin(120°- ) =

Options:

0
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Question Number : 17 Question Id : 6780946020 Display Question Number : Yes Sin ion Option : No Option

Orientation : Vertical

The principal solution of 3CosecA =4SmmA is _@
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Question Number : 18
Orientation : Vertic

real axis
a circle
A The imaginary axis

a parabola



Question Number : 19 Question Id : 6780946022 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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If (ﬂ) —(b) =a+ib. then a an b are
1—7 147

Options:
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Question Number : 20 Question Id : 6780946023 Display Question Number : Yes SingleLin u%ion : No Option
Orientation : Vertical
If the line v =2x+cis atangentto x*>+ 17> =5 then thﬁé cis

Options:

>
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Question Number : 21 Question Id : 6780946024 Di &

Orientation : Vertical

The vertex of the paraboho X

y Question Number : Yes SingleLine Question Option : No Option

12v+4=0is

Options:

(4D

| .
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Question Number : 22 Question Id : 6780946025 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

s (.
The number of tangents to the ellipse %4‘%:1 through (2,1) is

-

Options:

. 0
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Question Number : 23 Question Id : 6780946026 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of the latus rectum of the hyperbola x> —43% =4 is

Options:

s fb*

Question Number : 24 Question Id : 6780946027 Display Question Number : Yes Si Question Option : No Option
Orientation : Vertical
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The length of the diameter of the circle x° % 8v=0is

Options:

n O

15 &@
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Question Number : 25 Question I€ 946028 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

.
If the line 2+ k touches the parabola v* =6x thenk=

Options:

=
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Question Number : 26 Question Id : 6780946029 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Options:
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Question Number : 27 Question Id : 6780946030 Display Question Number : Yes Single Line Questi ptién : No Option
Orientation : Vertical

?

If f(x)=(+x)* is continuous at x=0 then 7(0) = i é

Options:
2
b & C |

o xY

Question Number : 28 Question Id : 67809460 isplay Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 29 Question Id : 6780946032 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If ¥ =" then & —
dx —
Options:
log x
| (1+log x)*
log x

. (1—log x)* O
—logx O
R )

%’
-1
2
(1+logx) t
Question Number : 30 Question Id : 6780946033 Display Question Number : Y@LineQueﬂion Option : No Option

Orientation : Vertical
5 X dv Q
If y=sin"!| —— | then === O
J1+x2 dx Z
Options: &

1

1+x2 \
1‘ O

Question Number : 31 Question Id : 6780946034 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The slope of the normal to the curve x=asecf.v=atané at 19:% is

Options:



Question Number : 32 Question Id : 6780946035 Display Question Number : Yes Single Line Question Option : No Opti
Orientation : Vertical

The rate of change of area of a circle with respect to radius when f‘=5c@

Options: O
2n sq.cmisec

l. Y

. 107 sq.cm/sec E @

: 1007 sg.cmisec é

20r sg.cmisec
4,

Question Number : 33 Question Id : 6780946036 Display Question n Single Line Question Option : No Option
Orientation : Vertical

Which of the following function has rr@a or minima?

Options: &

x

b9 \
) log x O

&
3

ARt aEsl
Sin X *
Question Numbgg,: 34 Question Id : 6780946037 Display Question Number : Yes Single Line Question Option : No Option

se in the side of a square is 2% then the approximate
ge increase in the area of the square is

Options:

B

4
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Question Number : 35 Question Id : 6780946038 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For the function f(x) :l»s:.g(:r2 +_1'2}. which of the following is true?

Options:
fotf, =0
1.
St Jyy =0

-2

f.~1,=0
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4.
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Question Number : 36 Question Id : 6780946039 Display Question Number : Yes Single Lin&Questj tion : No Option
Orientation : Vertical
jcosecs O cotB@d b = é

Options:
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Id : 6780946040 Display Question Number : Yes SingleLine Question Option : No Option




Question Number : 38 Question Id : 6780946041 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Options: O
) a=b @,

;3 a+b

4. 0

b..
If « <0<b then Ide =
X

Question Number : 39 Question Id : 6780946042 Display Question Number : Y LlneQueﬂlon Option : No Option
Orientation : Vertical

1
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umber : 40 Question Id : 6780946043 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

r
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m > Saf=
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Options:
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Question Number : 41 Question Id : 6780946044 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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J sec® vdv =

0
Options: O

: X
¥ \0@
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Question Number : 42 Question Id : 6780946045 Display Q niNumber : Yes Single Line Question Option : No Option
Orientation : Vertical

-2
b
LA

The area bounded by the curvelw =40g x. x-axis and the straight line

x—e=01Is & are units
Options: O
e

1
(e—1)

3 0

, -9

Questi er : 43 Question Id : 6780946046 Display Question Number : Yes Single Line Question Option : No Option
Ori ertical

The volume of the solid generated by rotating one arch of the curve
v = Sin3x about the x-axis is----

Options:

.'?1'2

1.
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Question Number : 44 Question Id : 6780946047 Display Question Number : Yes SingleLine Question Option : N i
Orientation : Vertical

y=cx—c’is the general solution of the differential equation O
Options: ¢
7 4a -
(-
dx dx
.0
== o
= \(\
2,
O
b
Z
3.
v 3 &
[ﬂlJiﬂ{§1}+r=0
dx axt ‘-
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Question Number : 45 Question Id 4 Q Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

The general sojutipn ef the differential equation dﬂ+1§ =118
X

Options:

v=3+ce 3

2
*.
Jyv=c+el



%
Iy=pye

Question Number : 46 Question Id : 6780946049 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation corresponding to the family of curves v = ae™.

where a and b are arbitrary constants, is

Options:

L3
‘2‘;
&
—t
I
e —
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. T

i 2
8 dx Q
Question Number : 47 Question Id : 6780946050 Display Questi Q
Orientation : Vertical @
q

An integrating factor of the differgfia

(Cy+r+Ddr+(x+10)dv =W\
Options:
e’ O

er : Yes SingleLine Question Option : No Option

uation

k-2

umber : 48 Question Id : 6780946051 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation whose solution is Ax* + Bv?.where A,B are
arbitrary constants are of ----
Options:
1ST.
L

-151

order and 1™ degree



2" order and1®

degree
3 2" order and 2™ degree

, 1% orderand 2" degree

Question Number : 49 Question Id : 6780946052 Display Question Number :
Orientation : Vertical

The general solution of the differential equation

Options:

x=(¢ cost + ¢, sint)e”
t=(ccosx+c, aimi}ezx
x=(c; cos 2t +c,sin2t)e’

t=(c;cos2x+c,sin2x)e”
4,

Orientation : Vertical

The particular integral of (D—Z}E_&@ is

Options:

cos 2x \
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Question Number : 50 Question Id : 6780946053 Display Que;tion@Q Single Line Question Option : No Option



Question Number : 51 Question Id : 6780946054 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The unit of impulse is the same as that of
Options:
| moment of force

linear momentum

; force

A pressure O

Question Number : 52 Question Id : 6780946055 Display Question Number : Yes Single Line Question Optg Option
Orientation : Vertical 2

If the force is given by F = at+bt® where t is the time. The & ionsofaandb

dare
Options:

- MLT*, MLT? (a.
. MLT?®, MLT™ Q
y ML?T3, ML?T? C

ML2T3, ML3T* &6

4
Question Number : 53 Question Id : 678 \Spl Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Vector parallel to 6i @ and having a magnitude of 5 is

Options:

47+ 3

12t + 1

L2

i+ 4j

Question Number : 54 Question Id : 6780946057 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If |4 x B| = K(AB) then angle between 4 and 5 is

Options:



cos 'K

cos (1/K)

k-2

sin”'K
’ sin"'(1/K)

Question Number : 55 Question Id : 6780946058 Display Question Number : Yes Single Line Question Option : No Op
Orientation : Vertical

A cricket ball is thrown at a speed of 28 m/s in a direction 30° abuv@
horizontal. The maximum height reached by the ball is

- >
Options:

, 10m 6

, 20m é

30m
3.
, 40m Q
Question Number : 56 Question Id : 6780946059 Display Q Qﬁr : Yes Single Line Question Option : No Option
Orientation : Vertical
Two bodies are projected at a 459 and 60° with the horizontal with
same velocity simultane ~Ratio of their horizontal ranges is
Options: O
v3:2

1

243
_ ; s
s 241

k-2

umber : 57 Question Id : 6780946060 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A ball thrown by a boy is caught 2 seconds later by another at some distance
away on the same level. If the angle of projection is 30°, the velocity of
projection is

Options:



19.6 m/sec

9.8 m/sec

k-2

: 4.9 m/sec

; 5.2 m/sec

Question Number : 58 Question Id : 6780946061 Display Question Number : Yes Single Line Question Option : No Opti
Orientation : Vertical

A 200 m wide river flows with a velocity of 5 m/sec. A man crosses th
the shortest time of 25 sec. If there is no flow and he swims with t@
velocity, the time taken to cross the riveris

Options: @0
200
-

543

20 sec

O

252 sec

Question Number : 59 Question Id : 6780946062 Di |on Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

A body of mass 1 Kg ites inclined plane of angle 60° to the horizontal. If

the coefficient of fricti 4 the frictional force along the inclined plane is

Options:

196N

Question Number : 60 Question Id : 6780946063 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A force of 20 Kg weight is required to just slide a wooden box weighing 50 Kg over
ice. Then coefficient of static friction between the surfaces in contact is

Options:

0.2



, 04
, 0.8
, 0.1

Question Number : 61 Question Id : 6780946064 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A cyclist comes to a skidding stop in 10m. During this process, the force on the
cycle due to the road is 200N and is directly opposed to the motion. The w

done by the road on the cycle is O

Options: O
1000 J

1

4
20004 @'
_ ~1000 éé

L2

, -2000

Question Number : 62 Question Id : 6780946065 Display Question NUQ Single Line Question Option : No Option
Orientation : Vertical
A sphere of mass 4 Kg is dropped f@ﬂnain height. After 5s, its kinetic
energy is (g=10 mf’sz)

Options: *
) O\

, 504 Q

3 5 KJ L 4

S50 KJ

Question
Orientationg V

ator weighing 500 kg is to be lifted up at a constant velocity of 0.20 m/s.

63 Question Id : 6780946066 Display Question Number : Yes Single Line Question Option : No Option
al

What would be the minimum power of the motor to be used?

Options:

100 W
500W



, 980 W

900 W
4

Question Number : 64 Question Id : 6780946067 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

At t=0, the displacement of a particle in SHM is half its amplitude. Its initial

phase is (referring to mean position)

Options:

: O
: @

1

¥ g

Question Number : 65 Question Id : 6780946068 Display Questi Qr : Yes Single Line Question Option : No Option
Orientation : Vertical

The length of seconds pendulu cm. To have a period half of this value,

the length is to be reduc\
Options: O
25 cm

75 cm

m|~;;|

50 em
3

umber : 66 Question Id : 6780946069 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Inside a big hall, the reverberation time is

Options:
: directly proportional to volume

inversely proportional to sound absorption

12



both directly proportional to volume
and
inversely proportional to sound absorption

; depends on temperature

Question Number : 67 Question Id : 6780946070 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The voice of lion is different from that of a mosquito because O

Options
N the sounds have different pitch O

. they are of different size @’

the two voices travel with different velocities

(¥ 5]

the sounds have different phases
4.

Question Number : 68 Question Id : 6780946071 Display Question Nu@ Single Line Question Option : No Option

Orientation : Vertical
A car is travelling at L m/s and sou Qﬂf 1‘requen+t:3,r 990 Hz. The

apparent frequency heard by a p smg the car at m/s (v is the velocity
of sound) is
Options: \
: 990 Hz
900 Hz

4
, 100 Hz
4 1000Hz
Questi ber : 69 Question Id : 6780946072 Display Question Number : Yes SingleLine Question Option : No Option

Orient ertical
When ice cube melts and becomes water, the ice-water system undergoes a

change such that
Options:

entropy of the system decreases and internal energy decreases
L

. entropy of the system decreases and internal energy increases



entropy of the system increases and internal energy increases
3

entropy of the system increases and internal energy decreases
4.

Question Number : 70 Question Id : 6780946073 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A mass of 300 gm falls from a height of 3 m(g=9.8 mz’sg). Assuming that the

whole energy is converted into heat, the amount of heat produced is

Options:

1 2 cal OO
2.1 eal

, 4ca b@

, 4.2cal é

Question Number : 71 Question Id : 6780946074 Display Question Number : L|ne Question Option : No Option
Orientation : Vertical

-2

During an adiabatic expansion of 2 moles as, the change in internal
energy was found to be equal to 100 ,:I! ork done during the process will

be equal to &
Options:

| zero \
-100 J O

k-2

. 200J

, 1004 ¢

S;Ji?itg?iclj\lumb : uestion |d : 6780946075 Display Question Number : Yes Single Line Question Option : No Option
Th sure and density of a diatomic gas ( y =§) change adiabatically from

1

1
(P,d)to (P'.d"). If %= 32, then P; is

Options:

, 128

) 32



| 256
4 64

Question Number : 73 Question Id : 6780946076 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Boyle’s law holds good for an ideal gas during

Options:
| Isobaric changes

_ isothermal changes O
; isochoric changes O

) isotopic changes @’

Question Number : 74 Question Id : 6780946077 Display Question Number : Yes Singlelkhi ion Option : No Option
Orientation : Vertical

The threshold frequency of metal is v,. When a li quency 4 v, is
incident on metal then the K.Epgx Of emit% ns is

Options:
2y,h

3yh &6

, 4yh \
, mh O

Question Number : 75 Qu
Orientation : Vertical

L3

n Id‘: 946078 Display Question Number : Yes Single Line Question Option : No Option

Supercond re materials

Options:

3 ferromagnetic

diamagnetic

Chemustry



Number of Questions: 25
Display Number Panel: Yes
Group All Questions: No

Question Number : 76 Question Id : 6780946079 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Pauli exclusion principle is concerned with

Options:
| Energy of orbital.
Spin of electron. OO
~ Energy of electron "
Angular momentum of electron é@

4
Question Number : 77 Question Id : 6780946080 Display Question Number : Yes S@Queﬁion Option : No Option
Orientation : Vertical

According to Bohr's model of hydrogen atom, the fo o@a quantized

Options:

Linear momentum O

Linear velocity

2 &

. Angular momentum \
, Angular velocity O
Question Number : 78 Question | 46081 Display Question Number : Yes SingleLine Question Option : No Option

Orientation : Vertical

*
How many ‘d’ als have two perpendicular nodal planes

Options:

1 Two

-2

Four

Five

Question Number : 79 Question Id : 6780946082 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



In sodium chloride crystal, each Na™ ion is surrounded by

Options:

Two CI ions

Four CI' ions
. Six CI ions
Eight CI" ions

4. O

Question Number : 80 Question Id : 6780946083 Display Question Number : Yes Single Line Question Optjon : N@ Option
Orientation : Vertical

Which among the following molecule contains a 1 — bond

R
F: sg\@
' @,

]
L

HCI

Question Number : 81 Question Id : 6780946084 Displ u Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Which among the following is\ in water?
Options: O
Alcohol

Ammonia

Benzene

er : 82 Question Id : 6780946085 Display Question Number : Yes Single Line Question Option : No Option
: Vertical

The normality of 2.3 M H,SO, solution is

Options:

; 046N

- 0.23N

]

; 23N



, 46N

Question Number : 83 Question Id : 6780946086 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

8 grams of substance of molecular weight 40 is dissolved in 250 g of water. Then the
molality of the solution is

Options:

0.4

- O
g @
0.6

4.

L-2

@’
Question Number : 84 Question Id : 6780946087 Display Question Number : Yes Single Li ption : No Option
Orientation : Vertical

The pH value of 0.05M Ba(OH); solution is

Options: 0
, 10 \Q
. C

; 13

11 &
Question Number : 85 Question Id: 678(&I Question Number : Yes SingleLine Question Option : No Option

Orientation : Vertical

Which of the following
Options:

H,O

is not a Lewis Base?

BF3

k-2

NH;

Question Number : 86 Question Id : 6780946089 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

During the electrolysis of brine, 710 g of Cl; was liberated at anode. The weight of NaOH
formed

Options:



1 800 g
400 g
80g

4 40g

Question Number : 87 Question Id : 6780946090 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the Danniel cell, which electrode acts as anode?

Options: O
. @

1

1

3
Pt

4, 0

Question Number : 88 Question Id : 6780946091 Display Question Nu : Single Line Question Option : No Option

Orientation : Vertical
The molar conductance of HCI is more than @1 NaCl because

Options: @
1 NaCl is more polar than KCl

» NaCl is ionic while HCl is coyal
~lonic mobility of H" is more Xa Na™

) H™ get hydrated.

Ll

Question Number : 89 Qu

n |dg 6780946092 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The units fo ochemical equivalent are
Options:
gra

S ampere
3 Coulomb

Grams per coulomb

Question Number : 90 Question Id : 6780946093 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



Zeolite softening process removes
Options:

Only permanent hardness of water

Only temporary hardness of water

L2

- Both temporary and permanent hardness of water

Lid

~ The dissolved gases in permanent hard water.

I

Question Number : 91 Question Id : 6780946094 Display Question Number : Yes Single Line Question Option : n

Orientation : Vertical
The permanent hardness of water is caused by the presence of O
Options:

2
Bicarbonates of Ca and Mg @
1. é
Carbonates of Na and K é

S

Chlorides and Sulphates of Ca and Mg.

3.
) Phosphates of Na and K Q

Question Number : 92 Question Id : 6780946095 Display Q@lumber : Yes Single Line Question Option : No Option

Orientation : Vertical
The secondary treatment of water s&g to consume wastes in water.

Options: \
Filtration O
l.

Sedimentation

[

Chemicals *
3
Microorgafis
4
Questi ber : 93 Question Id : 6780946096 Display Question Number : Yes Single Line Question Option : No Option

Orientati ertical
Difficult to monitor and very dangerous form of corrosion is
Options:

| Galvanic

. Pitting



Crevice
3

Stress
4.

Question Number : 94 Question Id : 6780946097 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When Pt and Co are electrically connected, which one gets corroded?

Options:

Co
Pt

1.

L-2

None

both

I

Question Number : 95 Question Id : 6780946098 Display Question Number : Yes Sin
Orientation : Vertical

What rubber was invented when Dr. Joseph C. Patrick tie ake antifreeze?
Options:

Methyl rubber Q
) Chloroprene O

; Bruna N &

4 Thiokol

Question Number : 96 Question Id : 678( @ Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

The first plastic ever s @ ized was called

Options:
| Bakelite

12

Cellulose

Question Number : 97 Question Id : 6780946100 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

is a brand of polyester textile fiber that is wrinkle resistant and strong

Options:



Cellulose

Dacron

]

3 Bakelite

Nylon

Question Number : 98 Question Id : 6780946101 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Water gas is a mixture of
Options: O
H+CO O
- N: + CO 0’
| Hi+CO; é
H_';g + CH4
4.
Question Number : 99 Question Id : 6780946102 Display Question Nugbef™ gleLine Question Option : No Option

Orientation : Vertical

Which of the following is not a greenhouse ga@

Options: @
co &
CO; \

~ water vapour O

CH,

1.

1

Ll

4.

L 4

Question Number : 100 Id : 6780946103 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Verti

Burning o il fuels causes

rming
Ozone depletion

~ Acid rain

Ll

; Eutrophication



Number of Questions: 100
Display Number Panel: Yes
Group All Questions: No

Question Number : 101 Question Id : 6780946104 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The operation of searching for the mineral is called.
Options:

, Extrapolation

Prospecting

2,
Exploitation O
| Extraction @’

Question Number : 102 Question Id : 6780946105 Display Question Number : Yes Sin
Orientation : Vertical

Lsd

I

ion Option : No Option

Which of the following is the important ancillary
operation

Options: Q
, Depillaring O

Development

Strata control &
, Drilling and blasting \

Question Number : 103 Question Id ; @6 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

L-2

The deposits occur,nearggio the surface are

Options:

| Singenetic

L2

Overburden deposits

Question Number : 104 Question Id ;: 6780946107 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Fishing the drill hole means

Options:



: Surveying for deviation of bore hole
Flushing the hole for cuttings

s Pumping the water and mud under pressure into the hole

Tracing and withdrawing the broken and lost parts from the

g hole

Question Number : 105 Question Id : 6780946108 Display Question Number : Yes Single Line Question Option : No Ogtion
Orientation : Vertical

The straight chisel bit in drilling is used for O

Options: O
i Medium hard strata
. Soft strata @

5 Hard strata

4, Very hard strata

Question Number : 106 Question Id : 6780946109 Display Question N ngIeLme Question Option : No Option
Orientation : Vertical

The chemical used in the preparation of bnus@
Options:

1 NaMNoa &

PETN and TNT
ANFO and ASA \

3- O
, ASA and PETN

Question Number : 107
Orientation : Vertical

k-2

n I€: 6780946110 Display Question Number : Yes Single Line Question Option : No Option

the methane gas in underground coal
mine

Options:

Question Number : 108 Question Id ;: 6780946111 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical



Modern flame safety lamp can withstand an air velocity

Options:
, 10 m/s

. 11.5m/s

3 12.5 m/s

A 14 m/s

Question Number : 109 Question Id : 6780946112 Display Question Number : Yes Single Line Question Option : @ion
Orientation : Vertical

Magma is produced deep in the earth’'s crust where temperatures

are of the order of............ @
Options:

, 900°-1600°C e

- 800°-1500°C 0
, 700°-1400°C Q

*

L-2

; 600° - 1300°C

Question Number : 110 Question Id : 6780946113 Di Q@ Number : Yes SingleLine Question Option : No Option
Orientation : Vertical
Rocks crystallized at greater e called

Options:
| Hypabisal rocks O

Igneous rocks

L-2

2 2
Intrusive rock
i Plutonic

Questi ber : 111 Question Id ;: 6780946114 Display Question Number : Yes Single Line Question Option : No Option
i ‘Wertical

aginary plane or surface which divides a fold into two equal

partsis calledas.........................
Options:

| Normal plane

- Dipping plane



: Axial plane

" Overturned plane

Question Number : 112 Question Id ;: 6780946115 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

A local warping in the horizontal strata is called as.......
Options:
1 Homo-cline

- Monocline

L-2

Bi-cline

Lid

” Structural ferrace

Question Number : 113 Question Id : 6780946116 Display Question Number : Yes SingleLj
Orientation : Vertical

The places where the oil accumulates to form an oil po

Options: 0
1 Qil forms Q
, Qil gallons O

QilTraps

Qil pools &

Question Number : 114 Question Id : 678094Nisp Question Number : Yes Single Line Question Option : No Option

Lad

=

Orientation : Vertical

A group of closel ed parallel veins are

CalleEd oo

Options:
Lenticular vai

[

Sheeted veins

Question Number : 115 Question Id : 6780946118 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

A zinc deposit formed by a geological process is called

Options:



, Magmatic separation
Supergene
. Gravity concentration

Hydrothermal
4,

Question Number : 116 Question Id : 6780946119 Display Question Number : Yes Single Line Question Option : No Opti
Orientation : Vertical

.................. rocks are formed when magma crystallizes O

beneath the earth’'s surface. O

Options:

—_

L2

; Sedimentary rocks

Metamorphic rocks Q
4,
(o

Question Number : 117 Question Id : 6780946120 Display Questi
Orientation : Vertical

¢ 2
Intrusive @
Extrusive E 6

er : Yes SingleLine Question Option : No Option

A coal heading 4m wide and 2.5m h& an advance of 1m
per cycle. The amount of explosi d in blasting is 6 kg.
Taking specific gravity of coal \ e powder factor is...........

Options: O
| 1.66 telkg Q
4

2.50 te/kg

, 2.99telkg

3.32 te/
4
Questi er : 118 Question Id : 6780946121 Display Question Number : Yes Single Line Question Option : No Option
Ori “Vertical

In horizon system of mining of coal seam, the laterals are driven

Options:
| At right angles to the sfrike of the seam

Parallel to the strike of the seam



At 45° to the dip of the seam

At any angle to the strike of the seam

Question Number : 119 Question Id : 6780946122 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Deflagration is

Options:
Rapid explosion

b
. Explosion and burning O

Rapid burning but not an explosion O
3
L 4
; None of the above
Question Number : 120 Question Id : 6780946123 Display Question Number : Yes Sin i estion Option : No Option
Orientation : Vertical
ing

The width of heading in Bord and Pillar method@

depends upon Q
Options:
| Depth of working O

Face machinery used &

: Size of the pillars \
Ventilation requirement O
4,

Question Number : 121 Qu
Orientation : Vertical

For a given pal the greatest area of support is offered by

[

jon Ig: 0946124 Display Question Number : Yes Single Line Question Option : No Option

Options:

~ Square pillar

Lad

Circular pillar

Question Number : 122 Question Id : 6780946125 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



In ordinary coal, the rate of the penetration generally

Options:

| 0.5 m/min

5 2.15 m/min

5 1.9 m/min

4 1.5 m/isec

Question Number : 123 Question 1d : 6780946126 Display Question Number : Yes Single Line Question Option : io
Orientation : Vertical

With DERD shearer the cut coal is thrown on to the armoured O

face conveyor by

>
Options:
1 Centrifugal face t

By the movement of the machine

By the gummer Q
3

; Deflected by the plough.

Question Number : 124 Question |d : 6780946127 Di Q& Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Drivage of two sets of roads \ ing of pillar is known as

Options:
1'iuﬁufn::rrhzin;;;infch»e broken O

Working in the whole

1

4
Long-wall retr
3
Slicing
4
Questi er : 125 Question Id : 6780946128 Display Question Number : Yes Single Line Question Option : No Option

Gestation period is
Options:
1 The time interval between the mining start and production start

The time interval between the mining start and mining close



The time interval between the production start and mining close

4, Lag on ignition.

Question Number : 126 Question Id : 6780946129 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Blasting of a stope in Vertical Crater Retreat method consists of
Options:
Blasting one row after another

Creating initial slot going for mass blast O

Blasting all the holes in slices O
, Blasting one column after another @0

Question Number : 127 Question Id : 6780946130 Display Question Number : Yes Single L ion Option : No Option
Orientation : Vertical

High production rates coupled with large scale and ive

subsidence results from the method of
Options: O

: Top slicing

Lid

Block caving &

5 Sublevel caving

; Vertical Creater Retreat m@&

Question Number : 128 Question @ )946131 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Best suited minin@ meth

d for thick vein/massive deposit, with

strong ore, walls and steep dip is

Options:

Ope

nd fill
Shrinkage stoping

Block caving

Question Number : 129 Question Id : 6780946132 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical



Two or three compartment method of raising is limited to?

Options:
, 10 to 15m

_ 15t0 20 m

L2

20to 25 m

" 251030 m

Question Number : 130 Question Id : 6780946133 Display Question Number : Yes Single Line Question Option : | pti o
Orientation : Vertical

A method of controlling subsidence by proper control of O

underground mining operations is known as

>
Options:
| Contiguous mining E

Stowed mining
; Horizon mining Q
. Harmonic mining O
Question Number : 131 Question Id : 6780946134 Di (@Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Beam theory is applied to

Options: \
1 Prop free front face O

~ Freshly exposed roo

L-2

L2

Roof bolting

Lad

. Bar suppo

Question 132 Question Id : 6780946135 Display Question Number : Yes Single Line Question Option : No Option

Orient

ad at which an axially loaded prop reaches its elastic limit is

Options:
Load bearing capacity

Setting load

: Yield load



. Early bearing load

Question Number : 133 Question Id : 6780946136 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical
For a surface mine, the maximum angle of slope of the bench

does not exceed
Options:
, 30°

O
| 607
10°

Question Number : 134 Question Id : 6780946137 Display Question Number : Yes SingleLj
Orientation : Vertical

In respect of dipper shovel, “crowding” means

Options: 0
| Raising bucket to dumper height

Piercing the bucket into broken mineral O

Swinging the bucket round @
x>

Moving the shovel from one place ther

yestion Option : No Option

Question Number : 135 Question Id : 67 Xisp ay Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

In a ripper, the rippin rts thrust into the ground by
Options:

1.

1

Question Number : 136 Question Id : 6780946139 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

The slope of the dumps of waste designed in such a way that

waste should not roll down at coal benches when it assumes

Options:



Its momentum

lts angle of repose

o]

- Slope angle of bench

(Y]

Critical height
Question Number : 137 Question Id : 6780946140 Display Question Number : Yes SingleLine Question Option : No Optio

Orientation : Vertical

Options:
| To manage air, water and land pollutions O

To reduce noise and fly rock pollution @’

To manage ground vibrations

The main reason to prepare Environmental Management Planis

A To improve the production

Question Number : 138 Question Id ;: 6780946141 Display Question N er ; Single Line Question Option : No Option
Orientation : Vertical

The method of mining where the mineral i@vated in small open pits and

is transported to the surface througl&ﬂ@wations is called

Options:

| Hydraulic mining \
- Open pit mining O

Glory hole mining

; Alluvial mining

Surface miner

. Continuous miner

. Bucket Wheel| Excavator

; Dipper shovel



Question Number : 140 Question Id : 6780946143 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the wet bulb temperature exceeds 30.59C at any place air

current should be faster than?
Options:
L 1m/s

2 m/s
3 Im/s O
4 0.5mis O

Question Number : 141 Question Id : 6780946144 Display Question Number : Yes SingleLine Qu Option : No Option
Orientation : Vertical

By varying the pitch of the blades the pressure generated by @

flow fan é
Options:

| remains same Q
Decreases c ’

Increases

Increases 8 times &

Nisp Question Number : Yes Single Line Question Option : No Option

L2

L2

Laa

Question Number : 142 Question Id : 6780,
Orientation : Vertical

In an underground w rea, CH;y and CO, are normally

expected to be found rs ctively

Options:

, Near the fl along the roadway

or and near the roof

[

e roof and near the floor

Along the roadway and near the floor

Question Number : 143 Question Id : 6780946146 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

If the CO/O; deficiency ratio in a mine is 2.25 %. It indicates

Options:



Existence of spontaneous heating

2 Active fire

Heating in advanced stage

; Normal to the coal mine

Question Number : 144 Question Id : 6780946147 Display Question Number : Yes Single Line Question Option : No Optio

Orientation : Vertical

The detector that works on the principle of diffusion-combustion-
contraction is O
Options:

1 Spiralarm

(o
Methano meter é

]

Spectrometer
. Ring rose detector

Question Number : 145 Question Id : 6780946148 Display Questiofl NumbBer : Yes SingleLine Question Option : No Option
Orientation : Vertical

A gas mask does not include

Options: &

Check valve \
L.
Warning device O

Face piece assembl

L2

Options®
15 kcal/mole

19.5 kcal/mole

-2

22.1 kecal/mole



25 kcal/mole

Question Number : 147 Question Id : 6780946150 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

The minimum thickness of the explosion proof isolation stoping is?
Options:

149 m

3.3m

450 m O
3’ ¢,
 Bm

L 4
UES Option : No Option

13

Question Number : 148 Question Id : 6780946151 Display Question Number : Yes SingleLin
Orientation : Vertical

The lower limit of explosibility of methane is

Options:

| 2.25% @.
29% Q

4.8%

16.9% @
s &

Question Number : 149 Question 1d : 67809 y Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An early indication of sponts heating of coal can be given by

Options:
Sweating of strat

Formation of.C

Question Number : 150 Question Id : 6780946153 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Air samples behind the stopping should be drawn during periods of

Options:
High barometric pressure

Low barometric pressure

2



Medium barometric pressure
3.

Very high barometric pressure

Question Number : 151 Question Id : 6780946154 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A stone dust barrier should be provided at a distance from the

nearest working face not less than

Options:

150 m O
, 250m O

322m @,’
350 m
4.

Question Number : 152 Question Id : 6780946155 Display Question Number : Yes S ne Question Option : No Option
Orientation : Vertical

The part of light which is reflected is Q
Options: O

Luminous efficiency

Lia

Mean spherical candle power &

. Useful for illumination \
4+ Candela O

Question Number : 153 Question | 946156 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In designing th

L2

¢
y appliances against fire damp explosion the

point which h&s more importance is

e percentage

5 Amount of heat

Ignition temperature

Lag on ignition

Question Number : 154 Question Id : 6780946157 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical



The presence of nitrous fumes are detected by

Options:
| The smell of rotten eggs

Sweet smell

L2

g Metallic taste on tongue

; Headache

Question Number : 155 Question 1d : 6780946158 Display Question Number : Yes Single Line Question Option : io
Orientation : Vertical

In shaft plumbing, the plumb bobs are immersed in a bucket of O

water to prevent

>
Options: 6
; Oscillation of wires é

Effect of ventilation current

L2

Kinking of the wires Q
3' @,

Swinging of wires @
Question Number : 156 Question Id : 6780946159 Di &ion Number : Yes SingleLine Question Option : No Option

Orientation : Vertical

The combined effect of curv \an refraction in levelling is an

error which is

Options:
~ Additive

1

S

Question Number : 157 Question Id : 6780946160 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The maximum permissible angular error in seconds in a closed underground
traverse of 16 stations measured with a 20 seconds theodolite is

Options:
| 200



, 160
120

4. €0

Question Number : 158 Question Id : 6780946161 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

What will be the angle between the two lines OA and OB whose

bearings are 56° and 1547 respectively?
Options: O
O

g2°
j. @
210°
18°
4
Question Number : 159 Question Id : 6780946162 Display Question Numbeig: Y gIeLlne Question Option : No Option

Orientation : Vertical

The type of vernier used in theodolites is O

Options:

Retrograde vernier &
L

Extended vernier \
Double folded circular ue

Double folded verni

13

Question Number :

ion Id ;: 6780946163 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Verti

| angle between the true meridian and magnetic

Optio

1 Bearing

Local attraction

Declination

=]

‘Variation



Question Number : 161 Question Id : 6780946164 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The very first step in measuring distance between two stations is

Options:
Unfolding chain or tape

Ranging
Measurement

3
Pac :O
, Pacing

Question Number : 162 Question Id : 6780946165 Display Question Number : Yes Single Line Questi Opg'on : No Option
Orientation : Vertical

The simplest instrument used for setting right angles is

Options: éé

Optical square
, Prism square 0
5 Cross staff O
Site square @
4 &

Question Number : 163 Question Id : 6780946166, Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The method of levelling ad@i r faying out a haulage roadway

1

L

underground is

Options:

itudinal levelling

Question Number : 164 Question Id : 6780946167 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A compass traverse carried out for rough survey is balanced by

which of the following method ?

Options:



Bowditch rule

Transit rule

L2

Graphical method

Axis method

I

Question Number : 165 Question Id : 6780946168 Display Question Number : Yes Single Line Question Option : No Optj
Orientation : Vertical

The staff reading taken on a station before shifting the instrument is O

Options:
, Fore sight O

Intermediate sight

>
 Back sight E é

Change point

Lad

Question Number : 166 Question Id : 6780946169 Display Question
Orientation : Vertical

In the surveyor's telescope the eye piece cor@

ingle Line Question Option : No Option
used is

Options:

, Erecting eye piece &E
Huygens eye piece \A
| O

Ramsden eye piece

!

Diagonal eye piece

L 4

Question Number :
Orientation : V ehti

ion Id : 6780946170 Display Question Number : Yes Single Line Question Option : No Option

g a road or railway line with compass or theodolite

ethod suitable is
Options:
Direct bearing

Inclined angle

Deflection angle



Continuous azimuth

Question Number : 168 Question Id : 6780946171 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

The property which enables a metal to be drawn into wires is called

Options:

| Ductility

Malleability

, Toughness O
Brittleness O
4,

4
Question Number : 169 Question Id : 6780946172 Display Question Number : Yes Single LingQ .:'@ Option : No Option
Orientation : Vertical
The space factor for stranded rope is?
Options:

, 301040 %

40 to 50 % Q

50 to 60 %

75 % &6

Question Number : 170 Question Id : 67809£Nisp Question Number : Yes SingleLine Question Option : No Option

1

L

I

Orientation : Vertical

The correct place for g arrangement in endless rope

haulage is

. 4
Options:
: At the top cline
Atth of the incline

B

int on the level roadway

At the point where slack rope is most likely to occur

Question Number : 171 Question Id : 6780946174 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In case of power failure, the device used to hold the belt to run downward is

Options:



Sequence control

Back stay

L2

Remote control

; Holdback

Question Number : 172 Question Id : 6780946175 Display Question Number : Yes Single Line Question Option : No ion
Orientation : Vertical

The power is supplied to the coal drill by..................... O

Options: O

| core armoured cable

, 3 core armoured cable é@
4 core screened cable é

. 5 core screened cable 0

Question Number : 173 Question Id : 6780946176 Display Question N@s Single Line Question Option : No Option

Lia

Orientation : Vertical
What is the normal operating air pressu.@r pheumatically

operated machines in underground i&

Options:

651075 \
. O

” 85 to 100

L

, 100 to 120

Question Num

Question Id : 6780946177 Display Question Number : Yes Single Line Question Option : No Option
Orientation ,V

1 lac lit/min

50000 lit/min

L2

5000 lit/min

, 500 lit/min



Question Number : 175 Question Id : 6780946178 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For winding purpose locked coil rope is preferred because it
Options:
1 Offers greater resistance

Has greater fill factor

L2

Permits high factor of safety

3.
Cannot be spliced O
4 O

Question Number : 176 Question Id : 6780946179 Display Question Number : Yes Single Line Questigh Opgion : No Option
Orientation : Vertical

A component which plays most important role of safetyé

detaching hook is é
Options: 0

Jaws

1
Centre pivot Q
. D-link pin ®O

; Copper pin
Question Number : 177 Question Id : 67809461 ispl‘y Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The usual maximum sp nding drum shaft is

Options:
; 120 rpm

240 rpm

]

; 90 rpm

Question Number : 178 Question Id : 6780946181 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In Keope winding the overwinding is prevented by

Options:

| Safety hook



Breakage of rope

L2

Convergence of guides
3

; Thickening of guides

Question Number : 179 Question Id : 6780946182 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Lemniscate bar is the component of

Options: O
, Road header O
Shield support

L 4
* DERDS @'
, AFC Eb'

Question Number : 180 Question Id : 6780946183 Display Question Number : @eune Question Option : No Option

Laa

Orientation : Vertical

In underground mines, the power cannot b voltage exceeding

Options:

, 30

- &
4 250 O\

Question Number : 181 Question @ 946184 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

]

As compared wit geea Skip carries a large payload

Options:

. 2 times

[

8 times

G

Question Number : 182 Question Id : 6780946185 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Armoured chain conveyors are principally used for?

Options:



: Bord and pillar method

In gate roads

L2

Prop free front of LAV face

b

; Bridge conveyors

Question Number : 183 Question Id : 6780946186 Display Question Number : Yes Single Line Question Option : No Opti
Orientation : Vertical

Micro organization is a company with a capital less than O

Options:
] 10 lakhs
2
. 25 lakhs @.
75 lakhs E é
3

L

A 100 lakhs

Question Number : 184 Question Id : 6780946187 Display Question N@s Single Line Question Option : No Option

Orientation : Vertical
Register of return of reportable accidents @aintained in the form of?

Options:

. FORMJ &2

_ FORMK \
, FORML O

, FORMM Q
*

Question Number : 185 Id : 6780946188 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertic

Mine Rul

e Into force on
Options:
h 1955

2" July 1955

L-2

y 2" May 1955

, 2" January 1955



Question Number : 186 Question Id : 6780946189 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

The drinking water points shall not be situated within ............... of
any washing place, urinal or latrine.

Options:
; 6m

15m

3 10m
4 12 m OO

Question Number : 187 Question Id : 6780946190 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical ¢

If the gradient is less than 1 in 6, manholes may be provideb

intervals of not more than é

L-2

Options:

L 10m
2. 20 m OQ

30m
3

40m &6

Question Number : 188 Question Id : 6780946 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical

Arrangement shall be or suppression of coal dust with

water within at least......} the face?

Options:
60 m

50

o]

100 m
4.

Question Number : 189 Question Id : 6780946192 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



As per Mines Act 1952, the notice of opening of mine is given in

the form..?

Options:
| FORM |

FORM II

-2

FORM Il

L

FORM IV

o

Question Number : 190 Question Id : 6780946193 Display Question Number : Yes Single Line Question Option : Option
Orientation : Vertical

Every worker has to undergo vocational training unce

[

5 Q

) @,

4

4

Question Number : 191 Question Id : 6780946194 Display buestion Number : Yes SingleLine Question Option : No Option

Orientation : Vertical

Except in stone drift, notc .................... shots shall be

fired in any one round

Options:

1.5 *

10

-2

15

Question Number : 192 Question Id : 6780946195 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Every plan shall show a scale of the plan at least

Options:



_15-::m

20 cm

L2

” 25cm

4 30cm

Question Number : 193 Question Id : 6780946196 Display Question Number : Yes SingleLine Question Option : No Option
Orientation : Vertical
Ore grade for which revenue from the recoverable reserve exactly

equals the cost of mining, treatment, and marketing is known as O

Options: O

Cut — off grade

>
Break — even grade é

-2

’ Average grade

Liquidation grade

Orientation : Vertical

4. ?
Question Number : 194 Question Id : 6780946197 Display Queﬂio@ : Yes Single Line Question Option : No Option
Safety officer shall be appointed in @the average monthly

output exceeds
Options: \
2500 tonnes O
1.

5000 tonnes

s 7500 tonne

er : 195 Question Id : 6780946198 Display Question Number : Yes Single Line Question Option : No Option
n: Vertical

In high efficiency combustion and advanced power generation technologies, the
coal fired power plants are units larger than........................ MW

Options:
, 600

500

~



; 400

, 100

Question Number : 196 Question Id : 6780946199 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The process which is based purely on density of minerals and does not depend
on rate of fall or size of an ore or material is knownas....................

Options:

i Tabling O
Sink and float
Froth flotation @0

" Jigging

Question Number : 197 Question Id : 6780946200 Display Question Number : Y
Orientation : Vertical

ne Question Option : No Option

A metallurgical microscope can be employe e and measure directly
he paflicles down 10...uisimminaunmini

Options:

| Less than 1 &

More than 1
; Less than 1.5
: More than 1.5 O

n I€: 6780946201 Display Question Number : Yes Single Line Question Option : No Option

Question Number : 198
Orientation : Vertical

In Blake jaw r, the angle between jaws is about

Options:
10

20"

40°

Question Number : 199 Question Id : 6780946202 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



The primary grinding is referred to the reduction of ore as mined

ustially 1hfe....oonnnuannniagiss mm

Options:

3 50

, 200
3 150

, 100

Orientation : Vertical

Question Number : 200 Question Id : 6780946203 Display Question Number : Yes Single Line Question Op@o Option

The method of separation of two or more of minerals of different S

specific gravities is called

Options: é
Flotation @

1.

" Sieving Q

5 Washing

; Heavy media separation &

o

Q





